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Solving Exponential Equations when the
bases are not equal.

1) Turn in hw and try number 1-3 on the
SATs

2) Go over hw.

3) Graphic Organizer

4) Notes on solving exponential functions
5) little quiz

6) do your hw
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PROPERTIES OF LOGARITHMS GRAPHIC ORGANIZER
Name Rule(s) Example 1 Example 2
B ASIC - - Simplify: Simplify:
LOGARTTHMS | 109%:b= 1091 g, 19 gy 1
Condense: Expand:
pw |Og,, (m ) n) _ log; 6 +log, 7 = log, 63 =
Condense: Expand:
QUOTIENT log (E): log, 84 ~log, 12 - log 9
RULE ’
Condense: Expand:
pOWER no_ 2-log, 8 = lo 26>’1:
RULE log, m" = :
Using a common base, evaluate
CHANGE the expression below.
OF BASE IOgg, a= log, 32 =
FORMULA
REMEMBER: BASE 10 LOGS ARE COMMON LOGS AND WRITTEN WITHOUT A BASE! (log x)

© Gina Wilson (all Things Algebra), 2015
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Name: Date:
Topic: Class:

Main Ideas/Questions | Notes/Examples

Directions: Sclve the equations below using a common base.
WARM-UP gt
1 5n|lﬂ =25 2 gu 2 _ 274.r 2
Using a common ) )
base to solve an
exponential equation.
what if a @ ISOLATE the exponential expression.
common base
TAKE THE LOG of both sides.

is NOT possible? O) orpofhsides
@ You may need to EXPAND the log. (Use the Power Rule)
@ SOLVE and CHECK FOR EXTRANEOUS SOLUTIONS.

*Rounded answers may not produce the exact
same answer, but will be very close.
3.2 =61 4,8"7 =92
Examples

5.4.7" =148 6.4 -5=3

& Gina Wilson (All Things Algebra), 2015
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Name: Date:
Topic: Class:
Main ldeas/Questions | Notes/Examples
Direclions: Solve the equations below using a common base.
UswrlgAath—Lp 1. 5,'“'0 =25 2. 9«02 - 27‘&1-2
base to solve an 5“'“0 _52‘ 3:, 42 _ (33 “Ia"z
exponential equation. } ( -
o =2 Ta = 120.-
== 4 =100
E:’ 10 = 10o
|=Q
what if a @ ISOLATE the exponential expression.
igmsbﬁ? (2) | TAKE THELOG of both sides.
@ You may need 1o EXPAND the log. {Use the Power Rule)
(®) | OLVE anal CHECK FOR EXTRANEOUS SOLUTIONS.
*Rounded answers may not produce the exact
same answer, but will be very close.
3.2 =61 4,8"7 =92
EXAMPIES 1 g, bl =X 104 A2 = 11
loo U/ 1097
-ig—z' = X ]Dg 2
" 21745 =m-1
5.9301% X ]0\.|145:m
5.4.7" =148 6. 4% -5=3
=37 W3 =g
3,37 %0 1048 =3
1!531 =n _\_05—3_ =3W
1097 109
D5=W

Gina Wilsar (A8 Things Algelbra), 2015
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7.7-4""1-18 8.10.5%7 =40

9. 4.37 +15=359 10. -2.5” +7=-63
11.5.97' +1=181 12.8.117" —-3=213
13.6.1672-2-82 14, 3.8%7" 110 =94

& Gina Wilson (All Things Algebra), 2015
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7.7-4*'=18 8.10.5473 =40
4= 533 4
L|x+1:-|| ngf»‘Ll - 3k-3
m%(—u) =X+ lmgg - 31-3
No Solution! 0.80H=3k-3
Lo ot be 386l = 31
» w?::ga;ﬁm‘.’i [lze1=]

9. 4.3" +15 =359 10, -2.57+7=-63
Y.3" = 344 -2.5%=-10
3”9;3'& 5?:35

=0
loﬂagb 106535 =P
IICB 3 =N Jgg-a—s = P
log $
e N
11. 5.9";:,|1=131 12, %-%:?l:is:zé?b
H9%" =130 .
O\V":g{, I\ 21
o\ - \Ugu/r' =k
‘Dﬂq 3=V~ -
|2
\933(" = \-| lota il
“:3['205"—'\[" "31'45"-"Ik
(7.3 =V] [0.1904 -y
13.6.1677*2 -2=82 14, 3-8 +10 =94
(1L 1842 =84 333" -gY
"= g3 .- 79
100y, 14 =yt2 l0gq 23 =3 n
log¥ . 412 10328 . 3.9,
v w":’]gho'zs-fr‘lﬂ
= 2 * -
oA 139752 M
S 4l=u 0.199¢ =N
\ = R

3 Wilson {All Things Algebra), 2015
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Name: Unit 7: Exponential & Logarithmic Functions
Date: Bell: Homework 7: Sol_ving Exponential Equations
(using logs)

** This is a 2-page document! **

Directions: Solve each exponential equation using logarithms.
1.3 =18 2.7 =24
3.12" 3 =60 4. 2% =142
5,155 =87 6. 472 _84
7. 4-10" =60 8.16" —6=45
© Gina Wilson (All Things Algebra), 201
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Name: Unit 7: Exponential & Logarithmic Functions
Date: Bell: Homework 7: Solving Exponential Equations
(using logs)

** This is @ 2-page document! ** |

Directions: Solve each exponential equation using logarithms.
1.3 =18 2,7 =24
\0@31@ =X 105124:5
logi8 log 24 = y
log 3 log T
‘2- L3 = X 1.L332°Y
3.1 =60 4.2 =142
lg, 2.0 =Y -3 log o M2 = 3a
log 142 _
1098 < y-3 Taz
% ' 714971 =3
L1 =Y3 iy
H.0417 = Y] I 7.3832=a]
5.15""° =87 6. 4%"2 =84
109,537 = 3v-5 3434 = ¥n-2
a7 _ 5, l0a# - g2
log 15 loaj‘-l
L1 = 3v-5 2.1942= -2
L.l = 2v 5.1962 = 3n
[1’2"'"" =V ] (5.495 -nJ
7. 4-10% =60 8.16"-6-45
0¥ =15 =51
l6g 1015 = K log, 51 =N
10915 -y 1%61 n
Iong 109 (0
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9.138-9-17 10. 2.8 =28
11.10%77 -3=57 12.8°° % 16=22
13.6-4" -14 =88 14.9.12*% —8 =127
15. -5.45 4+5-_30 16. 8-11%777 110 =194

& Gina Wilson (Al Things Algebra), 2015
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9.1 % _9=17 10. 2.8% =28
3% 20 Q5" =14
[%‘37_[, = (C~-% ‘U@g 4 =5r

o \og 4
I ZV - C]—S b= 5(
log!3 log 3
220-8 |. 2641 =57
1. 2702 =C-
0.2538 =1
q.2102=C

11,107 -3=57 12, 85 ¥ 4 6=22

P27 = Lo ooy,
= l-4¥%

1&3,0 b0 = 2X-1 I:Bg":

11l - (p-Hy

.l_%—{—n-o = 2%~ [ug,%
log 1° 13 =6y
| 1182 = 2x-7 4o = -y

1182 =2X ,
Y earex] [ =X
13.6.4™ -14 =88 14. 9.17** -8=127
bL-4™ =102 992" =135
HM o lzv‘-H = |5
105411 =m ]%,Js = r+4

_‘,%D =M 1%15 - r_+‘_{
1013"" ]nql?-
7.015=m Loa =ri4 |

15, -5.4% +5==30 15.3-113P'°fm=194
5.4 - 35 303070 - i3y

3§ = 13,23

logy 1 =lex 109y, 23 = 3P~
09 1 log 23 _ -9
lwa'i ghde %97 2P

I.30'Ha=3p-q -
081 =bx 10.301623p [3.4359 2P

Gins wilsan (A Things Algebra), 2015
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Solve on the little piece of paper |
give you:

31+2=6

11



